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نقاط ( :      التمرين الأول ) 
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تصحيح إختبار الفصل الثاني في مادة العلوم الفيزيائية
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S)2!ن ا� , ا�$�  : ه$ ح, �4!�2د�� ا�/��4A�B و �// 0> ا�!�Xواة یDQ أن ی
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نقاط(      التمرين الثاني ) 
�# -أ-1�=�
  : �+�د
� ا

HCOOH  +  H2O  =  HCOO-  +  H3O
+

�# ح%4 أF�س أم / -ب�=�
  : ا
�# ه  ت=��# ح%4 أF�س _ن: ح�ث K$: ت2�دل ب1وت ن� آ%� ی�0 �=�
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�# ه� ) ح%4/أF�س(و ا�=�
ا
�ا!�K �0 ا
COO-

3O
+/H2O) 
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  : �+�د
� ا
%+�ی1ة - أ-2
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  : اح�ا�� نN*� ا
�U�aK -ب
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:نقاط(      )التمرين الثالث 
   : s1 = t *(9 ال��,$ - أ-1
• 	
  : *6 ال2+9أ )1S( )�9 ال=�
 ال(�

  : أي ���Mt = 1 s$ "�!ع ال�2�I *(9 ال��,$ ) d(�52- هKا ال+�9 

       r = d
1)=(t

t = 1 s  →     j 2 + i 1.5 =  j )2(1) ( + i ) 0.5 + (1) ( = r 23

       m2.5 = (2) + (1.5) = d 22

• 	
  ) :1S( س�*$ ال=�
 ال(�

       j (4t) + i )(3t = 
dt

rd
 = v 2

t = 1 s  →        j 4 + i 3 = j (4(1)) + i )(3(1)  = v 2

       m/s 5 = (4) + (3) = v 22
  

• 	
  ) :1S( ت�!رع ال=�
 ال(�

       j (4) + i (6t) = 
dt

vd
 = a

t = 1 s  →       j 4 + i 6 = j (4) + i 1) . (6 = a

       m/s7.21 = (4) + (6) = a 222

   : s1 = t  ، s2 = t )60 ال��,�60 -ب
r - r = r∆ = MM         : ��9ار اB���!ل • 1221

t1 = 1 s  →     j 2 + i 1.5 =  r1
t2 = 2 s  →     j 8 + i 8.5 =  r1

      
) j 2 + i 1.5 ( - ) j 8 + i (8.5 = MM 21

      j 2  -  i 1.5  -  j 8 + i 8.5 = MM 21

j 6 + i 7 = MM 21

       
m9.22 = (6) + (7) = MM 22

21

• Cال��!رع ال��2س :  

        t- t
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 = 
t∆
v∆

 = a
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12
m

 = j (4t) + i )(3t         :ل�9(! س!)�! 
dt

rd
 = v 2

t1 = 1 s  →        j 4 + i 3   = v1

t2 = 2 s  →        j 8 + i 12   = v2

      1-2

) j 4 + i 3 ( - ) j 8 + i (12
 = am

      

  j 4 + i 9=
1-2

j 4 + i 9
 = am

       m/s9.85 = (4) + (9) = a 222
m

  

→
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